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LABOUR WELFARE AND INDUSTRIAL RELATIONS
Paper — 111

guestions are compulsory.

Who had given the conceptual,
human and technical skills concept of
managerial skills ?

(A) Robert Blake

(B) Henry Mintzberg

(C) Robert Katz

(D) Heinz Weihrich

Who had advocated the systems
approach model ?

(A) John T. Dunlop

(B) Herbert A. Spencer

(C) Charles A. Spaulding

(D) Talcott Parsons

Who advocated the theory Z ?
(A) Douglas Murray McGregor
(B) William Ouchi and Price
(C) John Galbraith

(D) Jerdee and Caroll

Induction is viewed as
(A) Socializing process
(B) Belongingness

(C) Feel at home

(D) All the above

Match the following :

Approaches Propagator
to HRD

a. Human Capital i. UNDP
Approach

b. Socio ii. Human
Psychological Development
Approach Report of the

UN

c. Poverty iii. T.W. Schultz
Alleviation
Approach

d. World Human iv. David

Development McClelland
Approach.
Codes :
a b ¢ d
(A) i v i [
(B) ii [\ i
C) iv i i
(D) iii i i iv

Paper-111

10.

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

The ongoing globalization in India

requires drastic changes under which

of the labour legislations ?

(A) The Factories Act

(B) The Employees’ State
Insurance Act

(C) The Industrial Disputes Act

(D) The Employees’ Provident
Funds Act

Which of the following conventions

has secured highest number of

ratifications ?

(A) Forced Labour Convention (No
29)

(B) Freedom of Association and
Protection of Right to Organize

(No 87)
(C) Equal Remuneration
Convention(No 100)

(D) All the above

The composition of which of the
following is similar to the structure
of .LLO?

(A) Canteen Managing Committee
(B) Standing Labour Committee
(C) Safety Committee

(D) Works Committee

Which of the following legislations
extends some sort of benefit to
retired employees also ?

(A) Maternity Benefit Act

(B) Employees’ Compensation Act
(C) Employees’ State Insurance

Act
(D) Payment of Bonus Act

Which of the following is not a
method for fixing Minimum Wages
under the Minimum Woages Act,
1948 ?

(A) Notification Method

(B) Committee Method

(C) Bargaining Method

(D) None of the above
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S HeATUT AAT AT =T
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T T WIS H UEER (75) Tg-oehetia W € | TS U % ¥ (2) 3 € | Wt v aitrard €

1. VEE HICl B YA, AFEE aeT
Tehh! ShISTeT STEROT fohe 31 & 2
(A) T =AH (B) & fhestan
(C) Iwewes (D) w=aR™
2. Toeny i Aiew & el fhe &t € 2
(A) & T e
(B) @& T WX
(C) =red U WAreT
(D) IoTeRic URETH
3. [Osid ST (Z) % &F Yo & 9
(A) T I, FRITR
(B) faferaw ms=i ud wrew
(C) i Tiewe
(D) <& Ud A
4. ‘TSR P BT T H @ T 2
(A) STHISTHIHOT Sl UisHAT
(B) wwaIfrud B
(C) =R 1 &
(D) ST &+
5. freAtetEd bt gaferd #
a. AFEE OST 3UrE i JUAS
b. aTHISTH ii. FuA. B
T ST e o
faare
. TR e iii. 2re=y,
U oSt
d. fova OFa T iv. Se
U TeheAeis
FT !
a b c d
(A) il iv i i
B) i v i i
) iv i i i
() iii Qi i v
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6.

10.

IRA H It W Avaeul & o o6 sm
AT & 37 uRacT S STawhaT ¢ 2
(A) FREM AaH=H

(B) HHART TS T SfufTae

(C) sfrnfien foams sifufray

(D) FHHaRT wfasr ffy sty

frafafea & & feg ohma =

e G & ST U gU & ?

(A) Told o9 ATEHT (F. 29)

(B) TIH & WM H W=l 3R
Gifed g9 % AMUHR HI TR0
(T. 87)

(C) THM UIiHiHe ATa9a (F. 100)

(D) ST &

JMETASN, H WA & TG T
Frfefad & | Tt & 2

(A) S vE At

(B) T g\ |EMG

(C) Hwn wfHia

(D) fmor wfafa

feffgg & ¥ %= @1 aufem
QaAgd HHaTAr @i fHar 7 fHdr R
T T UG T & 2

(A) v graen Afafag

(B) wHHERI eifegfc sifufag

(C) wHHaRI =g dr stffam

(D) T P StetEe

AT TG I 1948 & TR
FATH TG W 3Y HERA e @ fafy
ffafea & & 91 781 & 2

(A) g fatg

(B) @i fafy

(C) Wiarstt =i fafy

(D) S H § g el
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11.

12.

13.

14.

15.

16.

Which of the following is not an

objective of Workers’ Education

Scheme in India ?

(A) To make workers’ responsible
citizens

(B) To make them efficient at work.

(C) Toenable them to earn more.

(D) To make them responsible
Union members and Officers.

Which part of the Indian Constitution

has shaped the labour welfare

programmes ?

(A) Preamble

(B) The Directive Principles of
State Policy

(C) Both (A) & (B)

(D) None of the above

Who among the following advocated
the theory of full employment ?

(A) Beveridge (B) Keynes
(C) Adam Smith (D) A.C. Pigou

Which of the following provides for
recognition of trade unions at the
central level ?

(A) Industrial Disputes Act

(B) Trade Unions Act

(C) Code of Discipline in Industry
(D) Inter-Union Code of Conduct

Which of the following legislations
was based on the recommendations
of the B.P. Adarkar Committee
Report ?

(A) Maternity Benefit Act

(B) Employees’ Compensation Act
(C) Employees’ Provident Funds Act
(D) Employees’ State Insurance

Act, 1948

Which of the following industrial
actions has been declared illegal by
the Court of Law in India ?

(A) Strike (B) Gherao
(C) Goslow (D) Lockout

Paper-111

17.

18.

19.

20.

21.

22.

The concept of co-operation in

Industrial Relations was

implemented through which of the

following ?

(A) Works Committee

(B) Joint Management Councils

(C) Workers’ representatives on the
Board of Directors

(D) All the above

In  which type of collective
bargaining workers lose something
instead of gaining ?

(A) Concession Bargaining

(B) Coalition Bargaining

(C) Productivity Bargaining

(D) All the above

From which of the following,
representatives are not taken in
tripartite bodies in India ?

(A) Management

(B) Labour/Trade Unions

(C) Government

(D) IL.L.O.

Who was the Chairman of the
National Commission on Rural
Labour ?

(A) Ravindra Verma

(B) H.Hanumantappa

(C) G. Ramanujam

(D) V.B.John

Which of the following cannot be

said to be an objective of Workers’

Participation in Management ?

(A) To associate in decision making
process of the organization.

(B) To satisfy the urge of self-
expression of workers.

(C) To promote a conducive
environment in the organisation.

(D) To promote higher income and
better conditions of
employment for workers.

Which of the following combinations
is taken as bipartitism in Industrial
Relations ?

(A) Government and Labour

(B) Government and Employer

(C) Labour and Management

(D) Employers and Consumers

S-55-13



11.

12.

13.

14.

15.

16.

YRG H o R aee w3

freferfaa & & 9 @ @i & 2

(A) st H IR ARTRS S

(B) SR M H TT TMT

(C) 3= ST HHTE o ol Tere ST

(D) 3% U9 & HER &= du@r
TRITERRT AT

TRAT Giae™ o 69 90T 7 &0 e
I e fFa € 2

(A) @

(B) T Hifd & Fewmes fagia

<c A 3’ﬁT.(B)a=ﬁ

(D) S H A HiE TE

7ol ISR % Tagiar &t el Ffefad
o 9 e &l & 9
(A) wERs

(C) usH =™

(B) g
(D) wH.

FHHT TR W TG T Bl T 3
e (etanad 5 § febddh a2
(A) 3T fems sifufem

(B) WSTEY WH tEw

(C) &M ¥ STRma &l Hiedr

(D)  3YeROT I 3id: el dfear

frfefad & @ &9 @1 efufaa S
T WiHfd Roie & fawiet w
M € 2

(A) v rgraen tfafam

(B) wHHERI eifeyfc sifufag

(C) UG viasr My sttt

(D) =HHAR! T ST TUEH, 1948

ffated & 9 fhg =i srars &
IRA § Red & §RT I HEAT S
fopar AT 7 9

(A) e

(B) ERTeiET

(C) =M A1 °R HH

(D) dreERt
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17.

18.

19.

20.

21.

22.

N WY W, Weam & udd
frafafad # 9 foas SRa Trartea
Topam T o 2

(A) Taior @t

(B) TR FEH URET

(C) Fseres Heet O Ifept o fdtTee
(D) 3o Jr

P8 TR & TWfes ARarst § S
Ao BF % o7 $9 @i € 2

(A) Ter=a Hikarstt

(B) wftHferd Gigamsh

(C) ScI=ehar Higasil

(D) 7= &t
uRa o el et @l 6

ferT | el foram ST € 2
(A) "=

(B) &1/ HSIgX 99

(C) IR

(D) 3TE.TeA. 3,

TG AHIOT 29 ST 7 37T i & 2
(A) T aat (B) U, EqHYT
(C) it yumsm (D) dtat si=

T H BT Bl UG B 329

T &l T ST kel & 2

(A) HTeT i o ik | S[ET |

(B) sifEhl ht 3TeH-3TTeAfeRT i didl-
T Bl TIL HT |

(C) WM H WEEeH AT U dTeTeRor
1 FgTaT ST |

(D) sfghi & fo@ ISTIR o S&e)
ferfaat 3R =T 3=9 o W@
TTET 3T |

frfafed o @ 69 T &t SiEifis
Ty | f5aetas o €9 forar S € 2
(A) THR 3T 7

(B) TR 3T e

(C) =/ 3R Ueer

(D) THaveRT SR ST
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23.

24,

25.

26.

27.

28.

In which of the following institutions
Central Government prefers to place
the labour policies for consultation ?
(A) LL.O.

(B) LL.C/SL.C

(C) Labour Ministers” Conference
(D) None of the above

Which of the following prohibits
formation or continuance of company
unions ?

(A) Code of discipline in industry
(B) Code of efficiency and welfare
(C) Inter-union code of conduct

(D) None of the above

The ongoing globalization in the
country needs reforms in our labour
laws. Which of the following forces
oppose changes in the existing labour
legislations ?

(A) Government

(B) Labour and Trade Unions

(C) Employers’ Associations

(D) Human Rights” Commission

In USA collective bargaining mostly
takes place at the

(A) Industrial level

(B) Regional level

(C) National level

(D) Enterprise level

In which among the following
countries Productivity Bargaining
was first used ?

(A) USA (B) India

(C) UK. (D) Germany
The purpose of granting recognition

to trade unions in USA by NLRB is

to

(A) send representatives to I.L.O.

(B) to participate in Government
Bodies

(C) to raise labour disputes

(D) to be accepted by Management
for  Collective  Bargaining
purposes

Paper-111

29.

30.

31.

32.

33.

The recent Industrial Relations
problem at Maruti Udyog Ltd. at its
Manesar Plant was concerned with

(A) Permanent workers
(B) Contract labour
(C) Displaced persons
(D) None of the above

Which of the following statements is
not correct in the light of present
Industrial Relations scenario in
India ?

(A) Number of strikes is declining
(B) Rate of unionism is increasing

(C) Number of Lockouts is higher
than the number of strikes

(D) Wages are revising

Union shop, closed shop, preferential
shop are known as

(A) Union Security Measures

(B) Industrial Actions

(C) Organizational Security Measures
(D) All the above

Which of the following Federations
is associated with International
Confederation of Free Trade Unions
(ICFTU) ?

(A) AITUC

(B) INTUC

(C) BMS

(D) CITU

Which of the following can be said to

be an Employers’ Association in

India ?

(A) Chambers of Commerce

(B) Federation of Indian Chamber
of Commerce and Industry

(C) Al India  Sugar  Mills
Employers’ Association

(D) All the above
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23.

24.

25.

26.

27.

28.

frafafeaa @ 9 g den |9, ==
WHR F9 Afqar B WES & (o 99
AT TRT TG HIel & 2

(A) TE.UA. 3.

(B) STEUAHE. /THUAM.

(C) =M w3l ot HikT

(D) SUgH | § Hig 7@l

FHOA Tl H T AT TR @ H
f=fafad & @ iF ufady &=ar € 2

(A) ST H SRR Ghea

(B) SHETCTAT AT SHeATUT Higd

(C) 3id: HellT TR e

(D) S ® A HiE TE

WM H IA W AT B AN W
FHIAT T GO B A & | HISTET 5
srfufadt § aRedHr &1 fefatad & 9
i ToRTe R & 2

(A) THR

(B) =1 3 ASIgX U

(C) Frrer g

(D) UHEHHR I

JUAT, H gfed FRars SRR 6w
T R B E 9

(A) iR (B) &8 &R

(C) TEEwR (D) SEHER

AfEd § ¥ 69 39 H Icasedl
WIS 6T WA ST g3 2
(A) JuaT (B) 9rd
©) 3= (D) AT

JUGN, § TG Gl Sl T, SR,

FRT T S 1 3LV &

(A) vfarfET Bt eEue. 3. s

(B) TR Fepma | wfafirar s

(C) =M f9amRT i URqd Ll

(D) UmfEsd HRast & I29AT & ford
T 5T Wik gl
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29.

30.

31.

32.

33.

e 32T fafies & AFET 933 § 8
_Eﬁ % \‘5‘||'€|||r]|°|'> = HYT hl GIhX

o AT & 2

(A) T g

(B) dfa=T S

(C) Tawnyd =afe
(D) ST H | HrE T

IRA H aq9H SR @Y %

TSTohed o URAST § (=fefad ° & &

T H TEl e 2

(A) FEardl ol GET FAE @I T |

(B) TTOR HI X IE ¢ |

(C) eearell ol WA i STUET ATCATeRT
=t G AF |

(D) TSI TE@/E |

A v, Selie v, SR A
TS 9T Tohd AT | ST T € 2
(A) T gee 3

(B) irenfiTes HrEams

(C) HTTeHTcH Gl 3UTH

(D) =

frafafes & ¥ &9 @ %A
EEYAT RS A W dE
I o T T § 2

(A) AITUC

(B) INTUC

(C) BMS

(D) CITU

frafefad & 9 9 vyra § Fee |99

T T Wbl & 2

(A) FRT AE D

(B) ﬂ%%m:r 3T Eﬁ%?ﬁ IR AH
hHH (Vs o<l

(C) eIfEer YRA™ =T et At 99

(D) S
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34.

35.

36.

37.

38.

Which of the following strikes are
not authorised by Union ?

(A) Quickie Strike

(B) Lightning Strike

(C) Wild-Cat Strike

(D) All the above

Which of the following legislations

deals with collective bargaining in

USA?

(A) Labour Management Relations
Act

(B) Landrum Griffin Act

(C) OASDHI Act

(D) None of the above

Which of the following statements

about Economic Reforms in India is

not true ?

(A) Economic reforms were
initiated in July 1991

(B) The balance of payment crisis
led to the hurried introduction
of Economic reforms

(C) LPG were the three
components  of  Economic
reforms

(D) It had least impact on the
human resources management

Rationalization of human resource

means

(A) only downsizing

(B) only increasing the manpower
strength

(C) rightsizing

(D) skill enhancement only

Name the economist turned Finance
Minister, who initiated economic
reforms in India ?

(A) P. Chidambaram

(B) Manmohan Singh

(C) Pranab Mukherjee

(D) Yashwant Sinha

Paper-111

39.

40.

41.

42.

43.

Kim Cameron defines ‘downsizing’
as a set of activities undertaken on
the part of management and designed
to improve organizational efficiency,
productivity and/or competitiveness.
It represents a strategy implemented
by managers that affects the size of
firm’s workforce, the costs and the
work processes.”

From this definition which one is not
true ?

(A) To improve organizational
efficiency

(B) Strategic decision of
management

(C) Trade Union approved action
plan

(D) Affects the size of firms’
workforce, costs and work
processes

Which of the following is the
meaning of ‘Golden handshake’ ?
(A) Itisabribe.

(B) Itisagift.

(C) Itisagratis.

(D) Itisacompensation.

What are the four components of ‘4’

P model of organizational excellence

as suggested in Toyota culture ?

(A) Plan, policy, procedure,
programme

(B) Philosophy, process, people,
problem solving

(C) Plan, philosophy, process, product

(D) Philosophy, product, price,
promotion

Delphi Technique is used in
(A) Planning (B) Promoting
(C) Forecasting (D) Pricing

Which of the following is not a TQM
technique ?

(A) Six Sigma

(B) Zero Defect Programmes

(C) Quality Circles

(D) Core Competency

S-55-13



34.

35.

36.

37.

38.

frfefaa & ¥ #i9 9@ gsaret & 99 /
IFE §RT TR T e § 9

(A) e ggdret

(B) T A

(C) dTEee-e &g

(D) T

f=fafed 5 9 &9 @1 aifutem 3 uaT,

o gmfee Qiearst ¥ grafd & 2

(A) o9 Yo Ty ey

(B) wivew iR sifufwem

(C) afmfy (3T T0H 31037,
e

(D) S H A HiE TE

YRA | 37 GuRi & ar § Fefarad

T 9§ B 9T HoF T el € 2

(A) TF IR SE 1991 H UR™Y
o mr o |

(B) T Te Tehe A 3T FuRT
H ARG TEAT H AT Tgd
fopar |

(C) uaAdish s gumi % o=
TTE € |

(D) TEH HAHEA THEA YSEH W
AT T TS |

S ST o YTl 1 37 &
(A) HIA T (STSETET)

(B) haeT UG i T ST
(C) s T

(D) A DIV FaET

39 STV 1 99 oqred S o 7=
T M I SR IR H MR R
3\1’5%3%:

(A) . fogmRm

(B) T f&E

(C)  wromr ehoit

(D) FwEd faw=et
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39.

40.

41.

42.

43.

forT R 7 SIS ETEeTT ol Yaw= i

At % Teed % 9 H UREd

fer & St fo6 GeAcHe SEeE,

IR AT A TeHehal sl 31

FH F o feoed & St € 1 T@

Jegeh] i SHIIAI &Yd Hidr & S &

F gHEA & AHER, od R HE

TiHATST BT TiferT Ll & | SH G

% SR T i T HIT T ¢ 2

(A) TSI HIEETHAT eRAT

(B) Ve W el (U

(C) ToX ¥F R FHEATE AT H
TSR 3T

(D) Y & o T % 3THR, AN 3R
1 UshaTeT hl TTfa et & |

@y ‘Feie’ H o et ° 9
FTE 2

(A) TR |

(B) W IWRET |

(C) T@uUeTT |

(D) & &y ¢ |

e T § FdET T e

SFRAl & “4” Hied & GR FHeEH HT

T2

(A) T, Hiferd, TSI, T

(B) Twetraw, wifgw, Wuer, Weetd
HifeaT

(C) ™M, TFeTEI, WTeH, Tese
(D) TwRaATEwI, Ui, UTed, THeH

SO AhIeh ShEH SUIIT i STl & 2
(A) Traee (B) otfyas
(C) vamHH (D) T T

e § & 2hagud. qes SiF ot
THE?

(A) @t

(B) ¥ A HrshH

(C) T Wik

(D) R HiEeE
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44,

45.

46.

47.

48.

Which of the following is a Matrix

Organization ?

(A) When bureaucratic structure is
made less hierarchical

(B) When project structure is
superimposed on bureaucratic
structure

(C) When project structure is
independently created

(D) When projects are

geographically dispersed

Who had advanced the ‘soft’” and
‘hard” approach of HRM ?

(A) Benjamin Schneider

(B) James Niniger

(C) John Storey

(D) Lloyd Baind

The book ‘Competitive Advantage’
is authored by

(A) C.P. Lewis

(B) Michael Porter

(C) C.K.Prahalad

(D) Sumantra Ghosal

The concepts of “human engineering’
and ‘ergonomics’ are advanced by
which  school of management
thought ?

(A) Quantitative School

(B) Human Relations School

(C) Behavioural School

(D) Scientific Management School

Which of the following statements
about assessment centres is not
correct ?

(A) Itisasimulation exercise.

(B) It is designed to evaluate
managerial potential.

(C) It is used only as a selection
technique.

(D) It uses interviews, in-basket
problem solving exercises and
business decision games as
methods.
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49.

50.

51.

52.

53.

Assertion (A) : Downsizing is an
organisational imperative in the
context of open market
competition.

Reason (R) : Outsourcing strategy
gave rise to downsizing.

Codes :

(A) (A)iswrong and (R) is right.
(B) Both (A) and (R) are right.
(C) (A)right and (R) is wrong.
(D) Both (A) and (R) are wrong.

Which one is an underlying value in
OD efforts ?

(A) Profit maximization by hook or
crook.

(B) Coercing the people
(C) Trust and support
(D) Resorting to short cut methods

Which of the following is not a
traditional model of outsourcing ?

(A) Transactional outsourcing
(B) Functional outsourcing
(C) Operational outsourcing
(D) Utility outsourcing

The *‘force-field analysis’ model of
organisational change resistance was
advanced by

(A) Abraham Maslow
(B) Douglas McGregor
(C) Kurt Lewin

(D) Chris Argyris

Which of the following is not a
segment of David McClleland’s
Theory of Needs ?

(A) Need for Self Actualization
(B) Need for Achievement

(C) Need for Affiliation

(D) Need for Power
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44, TrEtetEd B § Aieey 9ed A @18 2
(A) T FHMEN T HH A0EE § |
(B) ST& WiSiae T @Ml AhRIEl grd
W AR € |
(C) <& UiSige & gl &= &9 d
AR T E |
(D) <& distaey Hilifcls €9 ¥ oy
TE |
45, TIARTY, H WE TAT L UMY
foram e fopam & 2
(A) ST IHEST
(B) S MR
(C) ==’
(D) wigs dve
46. ‘HiEfifefed wgdRs” AHE YWE &
G I & 2
(A) drdi. dfem (B) HIEH X
(C) ¥ wee® (D) gHA T
47. ‘gEA THERT HAR TEAIER”
YR Yaee  [gaRe™T & 69
TR R Ud &l T ¢ 2
(A) URETOTS TR
(B) ¥Ha TEg 9HIEE
(C) AgULh HHISTY
(D) ST TEe TR
48. 3MHAT H51 & a1 U B AT HAT Tel
T T2
(A) T FTEUU A ¥ |
(B) T& VEuHE WU H Hodihd
FH & ford fesTer At T 8 |
(C) I FHac TFHS b & &
3TN H TS E |
(D) J& TR, TA-TEhS U
T 3T 3T IR e
ot H ot % w9 § 39
FIATE |
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49.

50.

51.

52.

53.

AWHYT (A) : SHAVESI, oIl AR
AT % Ged W HieAHE
A |

FHRUT (R) : ST HREASHT =
ISR ol 5 e g |

ETE

(A) (A) T € 3R (R) T&T € |

(B) (A) 3R (R) I W&l € |

(C) (A) W& ¢ 3R (R) Tord € |

(D) (A) 3R (R) I oA & |

3Ty | Sfaited Jod HiF 91T 2
(A) fHd off @& ¥ @W @
STTHTTHIRIT

(B) AT o QT SI-STeREE AT
(C) fovamg qem gae
(D) e fafe= | 1 e

AT 1 IR Higd &
T2
(A) TSR ST

(B) UM ST

(C) VTS S aIa

(D) SUATTET eI

TSRS UNad forlg 1 “Hid wloe
TATTATE” Hieet e T foham & 2
(A) 3TSTEH AT

(B) TTeIE BRI

(C) = wfed

(D) Tohe ST

Sfae Uheiois & 3MEvashdl Egid &l
T FAfeiEd B | i 91 &l € 2

(A) T TeIEIHOT T AT

(B) UGSy i STEwTHl

(C) TE=IgaTl i avThHdl

(D) HT S AT
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54,

55.

56.

S7.

58.

59.

A systematic, integrated and planned
approach to improve the
effectiveness of groups of people in
organizations is known as

(A) Management Development
(B) Organizational Development
(C) Managerial Training

(D) Management by Objectives

Which of the following is not a cross

cultural theory of international

HRM ?

(A) Geert Hofstede’s Theory

(B) Cluckhohn-Strodthbeck’s
Theory

(C) Halls Theory

(D) Jai B.P. Sinha’s Theory

Who among the following advocated
the principles of Labour Legislation ?
(A) Dankert

(B) V.V.Giri

(C) R.K.Dash

(D) S.D. Punekar

Which of the following is not a

regulative type of labour legislation ?

(A) Factories Act, 1948

(B) Trade Unions Act, 1926

(C) Industrial Disputes Act, 1947

(D) Industrial Employment
(Standing Orders) Act, 1946

Which of the following is not a
labour legislation ?

(A) Factories Act

(B) Minimum Wages Act

(C) Untouchability Abolition Act
(D) Equal Remuneration Act

Social justice is the guiding principle
of which of the following labour
legislations ?

(A) Factories Act

(B) Mines Act

(C) Plantation Labour Act

(D) Equal Remuneration Act
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60.

61.

62.

63.

64.

For which of the following the first
labour legislation was enacted in
1860 ?

(A) Factory

(B) Industrial Relations
(C) Mines

(D) Plantations

The Factories Act, 1934 was enacted
to implement the recommendations
of which of the following ?

(A) Labour Investigation Committee

(B) IL.O.
(C) First National Commission on
Labour

(D) Royal Commission on Labour

Which of the following labour

legislations is implemented only by

the Central Implementation

Machinery ?

(A) Industrial Disputes Act

(B) Trade Unions Act

(C) Employees’ State
Act

(D) Maternity Benefit Act

Insurance

Shops and Commercial Establishment
legislations are included under which
of following lists of Indian
Constitution ?

(A) Union List

(B) State List

(C) Concurrent List
(D) None of the above

What is the wage limit for employees
to be covered under the Employee
State Insurance Act as per the latest
amendment ?

(A) 15,000 per month
(B) 18,000 per month
(C) ¥ 20,000 per month
(D) 25,000 per month
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54.

55.

56.

57.

58.

59.

G § AN & YRl St TTEeierar
S HRA B AR, Thihd  ddT
FISTHTSg, SUNTH T AT § 2

(A) Ve fo

(B) HieATHS [

(C) vemrshiar Hf¥TeTor

(D) SE¥El % AR e

LT TH.AXTY. H Ud-hidh
fagia Frfaiad o & i a1 781 & 2
(A) T geds & f9sid

(B) FeTed-rash &l fagia

(C) & = fasra

(D) S/ St fawer % gt

oA SaEEr % fagiar o Wt fhe
9

(A) TR

(B) drat. fifk

(C) W&, I™T

(D) TEEL THH

foafFames UsR ® 9m syt

e o @ i @ @ € 2

(A) FREMT UHIH, 1948

(B) = 99 3Tyam, 1926

(C) 3Nt foams stfuf=m, 1947

(D) 3i=fier ISR (R 3R
AU, 1946

fr=fefaa 5 9 =i a1 99 sfutas =i
g2

(A) FREM AaF=H

(B) —gaH TGl At

(C) 1T 3o SATafTad

(D) THE TR 2AafEm

ffefea & 9 59 o atfufam &
e Mgid | = & 2

(A) FREM =T

(B) w&&M A"

(C) amTH oW sttatad

(D) THE TR 2AfufEm
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60.

61.

62.

63.

64.

fefcfea 5 9 foas o w99
At 1860 § Wi fohar mmar o 2

(A) wREE
(B) 3fr=nfiTeh wramy
(C) @=m
(D) =rme

frfafeaa & @ feasr fawien =
TraTtag 3 & o8 S Sttufam,
1934 IR TR T2 o1 2

(A) =W Sit= |t

(B) STE.U.3.

(C) W I &1 ST

(D) W& ST ST

frfefaa & @ =9 @ afataw s
Fd haaas a1 510 fehantad T
ST & 2

(A) Tt foems stutay

(B) USTEY ©H Mt

(C) =HAR! T &M 3t

(D) vl vrgferen Sttt

THEE qAT AMNGS UiaeH =
R e @t Fefetad e 5 9
forae wfmferd fepe o € 2

(A) e gl

(B) TF gl

(C) et el

(D) ST H | I T

FAATH TMET & STER FHAR I
S erfutEm & g wHEEr i
STt ST HHT T & 9

(A) wfd AE % 15,000
(B) W #E ¥ 18,000
(C) wfa =& ¥ 20,000
(D) wfa = ¥ 25,000
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65.

66.

67.

68.

69.

Which of the following legislations
in India is governed by a tripartite
organization consisting of
representatives of labour,
management and Government ?

(A) Industrial Disputes Act
(B) ESI Act

(C) Maternity Benefit Act
(D) Payment of Bonus Act

The eligibility  condition  for
obtaining gratuity under the Payment
of Gratuity Act, 1972 is

(A) Completion of 2 years of Service
(B) Completion of 3 years of Service
(C) Completion of 4 years of Service
(D) Completion of 5 years of Service

Which of the following has adopted
the principle of fair wages in India ?

(A) The Minimum Wages Act
(B) The Equal Remuneration Act
(C) The Wage Boards

(D) None of the above

The Bureau of Public Enterprises is
related to

(A) Central
undertaking

(B) State Public Sector undertaking

(C) Central Government
Departmental undertakings

(D) Private Sector Undertakings

Public Sector

The provision of minimum of one
year and maximum of three years of
operation under the Industrial
Disputes Act is related to which of
the following ?

(A) Converted settlement

(B) Settlement

(C) Award

(D) None of the above

70.

71.

72.

73.

74.

75.
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The minimum wages as fixed under
the Minimum Wages Act, 1948 must
be revised at least once in

(A) 2 years
(B) 3years
(C) 5years
(D) No mention under the Act

The method of applying ‘means test’
for giving benefit is found under

(A) Social Assistance
(B) Social Insurance
(C) Both (A) and (B)
(D) None of the above

Under the Child Labour (Prohibition
and Regulation) Act, 1986, a child is
one who has not completed his

(A) 18 years (B) 16 years
(C) 15years (D) 14 years

No contribution is required for
getting benefit under which of the
following legislations ?

(A) Maternity Benefit Act

(B) Employees’ Compensation Act
(C) Both under (A) & (B)

(D) None of the above

As per the latest amendment under
the ESI Act, 1948 medical treatment
is now available to persons under
voluntary retirement scheme also.

(A) True

(B) False

(C) Partly True

(D) The Actis silent

The maximum amount of gratuity
has now been enhanced to ¥ 10 lakhs
from

(A) 2.5 lakhs (B) 3.5lakhs
(C) 5 lakhs (D) 7.5 lakhs
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65.

66.

67.

68.

69.

IRd ¥ Fafefaa 7 9 »F a1 et
Freia 9meq, o 98 o9, e 3R
PR & Ui &, FRT IR Sl & 2

(A) 3T foams stfufm
(B) TUH.eE. AfufwEw

(C) v e stfafa
(D) T PTAE StetEe

SUSH A SAEFEH, 1972 & ITd
YR W S i T T & 2

(A) T3 HHaT

(B) T@ThIT & X 3 I
(C) HatheT & X 4 a9
(D) WA &R 5 99

frffea # & e wrRa o sfad
AT o T / FEm &t 7o € 2
(A) =g HeIg St

(C) wog e

(D) SUIF H ¥ HiE TEI

e T SR e gt & 9
(A) FHEE A & U
(B) T T &1F T

(C) = WHR Tt ufaem
(D) =it &= i

Aefies foar stfuf=Eg & g &9
q HH TH 99 A} 3w § 3fyes diF
TUT % T Sl Wee FEterad § 9
forod Trafaa € 2

(A) UREldd a1 TR Heae
(B) F&em
(C) U=

(D) S H A HiE TE

70.

71.

72.

73.

74.

75.
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AT gergdt A, 1948 % T
freifa =Faq Al B wH ¥ &Y
foha= T & Henfed fwar st =nfew 2
(A) 29

(B) 3@y

(C) sad

(D) etfufaw d =i oo =@

T A AW oA % o He o
IR X i ety feheeh et uTE
STl & 2

(A) TR FErEdr

(B) it ST

(C) (A) R (B) 31

(D) W | F HE TE

e gm oy qer fataee) sy,
1986 o ST, e o € fSTeEe 3for
g % TfeIiad ag ) &l & o/ €
(A) 18 a9 (B) 16 a9
(C) 1599 (D) 1439

Trfetiaa o 9 T erfufrm & g
AT AT WIgTae U= & o TR eive
i SATETIHAT el & 2

(A) TId Tgfaen Tt

(B) wHHERI eifeyfc sifufag

(C) (A) #X (B)

(D) SUgH | ¥ i TEl

Tugems ofufm, 1948 % et
i TN % SFER fafhed 3TaR
! G 31 Wiess Ha-gid aeHr &
3T off TSRl h ST &

(A) T

(B) Toem

(C) =ifeTs &9 ¥ TF

(D) offufEm d=E |

UM I AT Tl ART T @
AT 10 G i IHaq AT fohar T
g2

(A) 25™@
(C) 5o

(B) 357
(D) 7.5 @@
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